DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
(2023-24) (TEST-2) Total Marks: 180
General Instructions:

1. The test is of 1.15 hrs duration and consists of 45 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. Two points P and Q are maintained at the potentials
of 10V and —4V, respectively. The work done in
moving 100 electrons from P to Q is

A)-9.60x 107 B)9.60 x 10"7)

C)-2.24x 1016] D) 2.24 x 10°16]

LeiTerfl&eT P Lommith Q 6V WemmGEW 10V DM MILD

-4V 06T SIS 6T BlemeuBlMIGSLILIGSH S
eTeufley  LeiTerf] P wWedmba Q &@& 100
6TELE LT ITEOTSH 606 F&HTH S Q& WIWLLILILL Galemev

A) -9.60 x 107"7) B) 9.60 x 10°""J

C)-2.24x107) D) 2.24 x 107

2. Atacertain distance from a point charge the electric
field is 500 V/m and the potential 1s 3000V. What
is the distance?

A) 6m B) 12m

C) 36m D) 144m

Leiterfl WetTeanl L &s5mev @M LeTerflufley
WedTLjeuld  500V/m  WmMIbd - OeTeT(D &SI
3000V etenflel Lyermerfl leoTeL L &HL @ IBHS!
LeTerflulledr sy
A) 6m
C) 36m

B) 12m
D) 144m

3. Two charged spheres of radii R, and R, having
equal surface charge density. The ratio of their
potential is

A)R/R, B) R/R,

C) R /R,y D) (R/R )

R, LDMMILD R, 94, TLD Q& Tevor L LAl6TERTL L LD QLIMHM
@@ GCoHMeTmIGET Flomer UFLUULTSS 6l
Q& mevoT(hl6Temgl  eTevtlev LAl 6dT6oT (LD &5 &5 Ml & 61l 60T
DicaF:Ih)

A) R/R, B) R,/R,

O R/R)? D) R/R)?

4. Assume that an electric field E = 30x? exists in
space and potential difference is V, — V, where
V,, is the potential at the origin then, potential V,
atx =2m is

A) 120V B)-120V

C)-80V D) 80 V
Qeuerfluflev Q&weuLI(BD L 63T L] 6V & &) 60T
S LILImeorgl  E=30x4 6Tl  SBSUILOHMS.

Ggild WeTerrWHs Ceumiim® V, — V, @&lev
V,  eteorug  pHlligetefluiley QEwebLBid
leTeoT(L&HID,  eTevflel  x=2m 60 2 6iTeT
Ll6dTeuT(W S S0 V, 83 &6torH R (h &

A) 120 V

C)-80V

B)-120 V
D) 80 V

5.If the charge on a capacitor is increased by 2
coulomb, the energy stored in it increases by 21%.
The original charge on the capacitor is

A)10C  B)20C  C)30C  D)40C

0 L) 657 @ & & T Ul 60T L6oTERTL L &6m 5
2C QaTey6E 2 WisSEIh  Gums  Cruilgsl
MEUGHLILLL QMM 21% 2 WFH M, 6reflev
6T CHH R UN 6T QBT 58 LOleTenTL L 1D ----

A) 10C B) 20C C) 30C D) 40C



6. A parallel plate capacitor had a uniform electric
field E in the space between the plates. If the
distance between the plates is d and area of each
plate is A, the energy stored in the capacitor is
A)1/2 g E? B) E*Ad/g,

C) 172 ¢ E*Ad D) g E*Ad
@SSR WaTCHER UL 55D &HEHE G
@emLBW 2 atem Epmeor WedTLeVDd E, @ Tevor(
55HHEHHEG QMLGCW 2 6TeT QFHTem6eve| d
WLMOMID SH&ELIQ6T GMHGL UFLL A ereflev
NeTCHEHR U CFLAG S 6m6UESLILIL L QMM

A) 1/2 & E2 B) E2Ad/e,

C) 1/2 £ F2Ad D) £ E?Ad

7. Four capacitors of equal capacitance have an
equivalent capacitance C, when connected in
series and an equivalent capacitance C, when
connected in parallel the ratio C /C, is

A) 1/4 B) 1/16 C)1/8 D) 1/12
@ revor(h) L 60T B B & P & 600 61T QGTLIMS
@) 60600158 L1LI(H LD GuUIMTaI Q& MG LIUI6oT

0601 & 8 & & B 60T C, LDHMILD LI& 8 @) 6m600T LILII6L
@) 60)600T&H & LILI(HILD Gumsl Q& ITE& LG0T
WeTCH &GS Hmedr C, eTevtlev C,/C, eGS0

A) 1/4 B) 1/16 C) 1/8 D) 1/12

8. The total capacity of the system of capacitors
shown in the adjoining figure between the points

2uF
A |
2,
1pF — “0 — 2uF
2pF
A and B is
A) 1uF B) 2uF C) 3uF D) 4uF
A wpmin B yeaeflesersE 0 @emLGul
@) 6060018 & LILIL_(h6iTerT L) 657 @ & & ) & 61l 60T
eI eT QLTSS 6T G858 &8 S M 6ot
2uF
A |
i
T “6 L our
B ———]
2pF
A) 1uF B) 2uF C) 3uF D) 4uF

9. A car covers the first half distance between two
places at 40 km/hr and the other half at 60 km/hr
the average speed of the car is

A) 120km/hr
C) 50km/hr

B) 48km/hr
D) 24km/hr

&MY etm @revor(h @ LMBISEDHEG @e6mL LIl L
WS AL UGS QEemevemal 40 km/hr LIE) siem gLl
LUGH smemevemnal 60 km/hr GausGEHIanIN &LERMSI
erevflev &Miflet FrMEfl CousHms &eTsH (H &

A) 120km/hr
C) 50km/hr

B) 48km/hr
D) 24km/hr

10. A particle moves a distance x in time t according
to the equation x = (t + 5)"'. The acceleration of
particle is proportional to

A) (velocity)*?
C) (distance)

B) (distance)?
D) (Velocity)*?

SIGET RTM X QHTemnevemnel t &Hmev 6meiley
X = (t+5)'6T6dTM FLOGTUMLIQ6T LG SLEHMSI.
giseaflar Wwh&HD LeaTeu@md 6hs emellhE
CBI55 5060 IennGHMSI.

A) (Hen&FGeussLn)? B) (A& Tem6V6))?

Q) (A& MEm6VE)™> D) (560 & G618 0)23

11. A ball is dropped from a high rise platform at t =
0 starting from rest. After 6 seconds another ball
is thrown downwards from the same platform
with a speed v. The two balls meet at t = 18 s.
What is the value of v (Take g = 10 m/s?)

A)75m/s B)S55m/s C)40m/s D) 60 m/s

@@ 2 WISSLILLL Bl CenLulley @UHSI
BenL_GLoenL UNeSl(pH& t = 0 6TedTM &HITeV j6mailev
@Ule Blevewulley 2 6Tem LGS eeTm HCL
allurCFLWILGS M. 6BILE L &5 M & L 6ot
BeOL G uledmbhgs LOHAOMTMH UbHS HCH
CassH SBCp WM QFWWLILGSRMmSI.
t=18 alleormie&@& 6T @UHS @ HUBSISEHLID
660T6M MG\ WITEOTM & [H 5 &85 T6V v-60T DG LILIT60TS

A) 75 m/s B) 55 m/s C) 40 m/s D) 60 m/s

12. A balloon is at a height of 81m and is ascend-
ing upwards with a velocity of 12 m/s. A body of
2kg weight is dropped from it. If g = 10 ms™, the
body will reach the surface of the earth in

A)15s B) 4.025 s
C)54s D)6.75s

81m 2 WISHE 2 6Tem  LISVTeT  eedtml  12m/s
FenFCalsH S5 6L CLRVWRIMS. 3HS LisvTeo6dBH S
2 kg BlemmU6Tem QUITHem6T HEL all(Wlmm Q& uIwLl
UL LMV QUITB6T Liefenul S{emL LD &MeulD 6TedTeor?
(g=10 m/s?)

A)15s B) 4.025 s

C)54s D) 6.75 s



13. A stone falls freely under gravity. It covers
distances h, h, and h, in the first 5 seconds.
The next 5 seconds and the next 5 seconds
respectively. The relation between h , h, and h, is

1?72
A)h=1h=h B) h,=2h =3h,

C)h, =h /3=h /5 D) h,=3h, and h,=3h,

&6V e@erm  LelrFly  ellemswmey GG
ANWHMSI. AHHL PGV, @I6UTLITID DMHMID
eeoTmmd 5 B misefley wWeamCw SHLbHS
Qgmemevey h, h, LHDID h, eTeflev h, h, h, &
@enL LUl L Q& TLFLN6m60T &IT600Tss:

A)h,=1h,=h B) h,=2h,=3h,

) h,=h,/3=h,/5 D) h,=3h, and h,=3h,

14. A body moves with initial velocity 10 ms™.
If it covers a distance of 20 m in 2s, then the
acceleration of the body is

A) zero B) 10ms= C) S5ms! D) 2ms?

@ QUITH6T 10 ms” QSTL&HHS Hen&FCals 5% 6V
QEFLVRME. @b QUTIHeTTTS 2 aflermiguiey
20 WL Qs memevenel &S&LEHMS  6Teflev
Qumerfledr LNHE& 8D WMSHI?

A) & B) 10ms= C) 5ms’’ D) 2ms?2

15. Two balls A and B of same masses are thrown
from the top of the building. A, thrown upward
with velocity V and B, thrown downward with
velocity V, then

A) Velocity of A is more than B at the ground
B) Velocity of B is more than A at the ground

C) Both A & B strike the ground with the same
velocity

D) none of these

@65 bleopueLw A WO B aarm QG
UBSI&G6T 2 Wirnmer &L LLGHer Guedmba
elWliLG&mE. A wrmergd CeGHTESH V
HensGasmsHevn B wWmergl S CBTeHEs V
FensFGalss T avld erMIWLILGS M

AgenTuilev A 6T FlemFGeussLd B &3 el H &L
B) H6mJUil6L B 60T Hlem&FCaussib A &3 el 9|H 51D
C) A& B Gy HenFCalssH6L HemTuiley allwpld

D) GLom&sevorL 615516 Lol6L 66V

CHEMISTRY Q.No. 16 to 30

16. IUPAC name of the following compound is

CH,
CH- ‘CH — CH - CH,- COOH
o
A) 2 — methyl -3-hydroxy pentatonic acid
B) 4, 4 dimethyl-3-hydroxy butanoic acid
C) 4-methyl -3-hydroxy pentatonic acid

D) 3-hydroxy -4- methyl pentanoic acid

IUPAC QuUW (&

CH,
|
CH,~ CH - CH - CH,- COOH
|

OH
A) 2-QLD &S 6v-3-mam L T8 6rd G\ LisvorLeorullgs
9jdleuLh
B)44-e0)  QWEHeL -3- emaml gmsend

Nw,Leormuils odlevln
C) 4GS H6V-3-emamL_[J M8 6rd G LIevor LeoT muil&s

9Ldl6vth
D) 3-emamL_[Jm&erd-4-GL0 & %) 6V G\ LI6vor LeoT Ul &
ILdlevld
17. Benzoyl chloride is prepared from benzoic acid
by
A) Cl/hv B) SO,Cl,
C) SOCl, D) CLH,O

QuUeTCEFTUIES LeVETNBHS GCLETCFTUN
GCeTmenILMsG WTHML LwWeTU® alleners
&5 TIT600r

A) Cl/hv
0) socl,

B) SO,Cl,
D) CLH,0

18. Identify the correct order of Boiling point of the
following compounds

A. CH,-CH,-CH,-CH,-OH
B. CH,-CH,-CH,-CHO
C. CH,-CH,-CH,-COOH

A)A>B>C
C)A>C>B

B)C>A>B
D)C>B>A



Nereu@ld  CFILOMGEMET Q& TH Blenevemnull]
Qurmg s Fiflwmer aufleonganuwl CEHTHA S5 M & 5.

A. CH,-CH,-CH,-CH,-OH

B. CH,-CH,-CH,-CHO

C. CH,-CH,-CH,-COOH
B)C>A>B
DDC>B>A

A)A>B>C
OA>C>B

19. The carboxyl functional group (-COOH) is
present is

A) Picric acid B) Barbituric acid
C) Ascorbic acid D) Aspirin
GLE&sTLIMmMIGT  6TH  &TFUMsGaieds

3|6V NEMETFQFUIN QFHTSHS 2_6TeTS?
A) Ulsiflg gjdleun
B) urgUlwy fls »jidleutn
Q) 9envsTILlg gjdleuln
D) @p,ervLilfleot

20. Sodium phenoxide when heated with CO, under
pressure at 125°C yields a product which on
acetylation produces ‘C’ the major product ‘C’

would be .
OCOCH, COCH

o o o
COOH

OCOCH,

OH
C COOCH, D @\
) ) COOH

GEFMIQUILD &LT60TMEHem6r6mL 125°C GQleuLiLBlemevuuiley
SWSHHHL CO, 2L60 - QeululLBSSID
GuUMsl HeLEGLD  ellemerallemer = GILIMIHEN6T
AL CummId  QFWIWLCUME  HlemL_&@GLD
aflemerTellemeT@LIMBET ‘'C' 8956 aarragclzras.

OCOCH, COCH
NOE B o) "
COOH

OCOCH,

OH
COOCH
o Gr " m @l
) ) COOH

21.In the
A Pcls B ]?;CH
A) Acetaldehyde
C) Ethylene

reaction, CH,COOH —:a: .
C the product ‘¢’ is

B) Acetylene
D) Acetyl chloride

GLseHeL CauFallemeTuley 'C’ 88 &HTE00TS.
CH;COOH —" . A Pt g A .
A) SIF L Lmevig.emam ()
C) 6185 65601

B) & L_19 65e0T
D) AF L6016V
&Gemmemn(h

22. The correct order of acid strength of the following
carboxylic acids is

/O ANEIZIN
HT="om H™ o O
@ (Im)
0 ////\\\///OH
Meo_@_{OH H,C T
(100 av)
A) IV B) II>1V>IIT
C) Fl=I>IvV D) HI>11>1>1V
G LD G G 600TL STyumgerdieds Ldl6v
Garwmiserfler siflwmer 9blev euflens
(0]
=L io="Ton
M an
o /\/OH
. 7 H,C
wo-@-C,, ;
(1D av)
A) I>11>1>1V B) II>1>1V>1ll
Q) I>H>11>1V D) lI>1>1>1V

23. Salicylic acid when heated with zinc dust gives

A) Benzoic acid
C) Salicylaldehyde

B) Benzene
D) phenol
FmellF el s gjdlevid Zn STEBL6T QeulILlILUbGSS
R LILIG

A) QueTCaFmuils »Lilevld

B) Q\LI6oT E 60T

Q) meIF6VT6L 1960 ()

D) LfeoTmev

24. The equilibrium constants of the following are

2NH; =N, +3H, K,
2NO==N,+0; K,

HO < H.+30. K,

then the equilibrium constant (K) of the reaction

2NH, +35 0, == 2NO +3H.0 will be

A) KKK, B) K K| K,

C) KK, | K, D)K, | KK,
G LD G 600TL 6191 60 60T 5 (615 & &5 T60T FLOBlemI6V
omledl &6t

2NH; ==N,+3H, K,
2NO==N,+0; K,

H0 == H,+50: K,

éabaa ga(ﬂaégegsuj (gLJrngu 2Tq}13+'€%()2 :=§=i 2TJ()4'3I{2()
6160 elem TS S MeuT FLnBlemev Lomdled)



A) K K2 K,
Q) KK, | K,

B) K,K;? | K,
D) K, | K,K;?
25.1f the value of an equilibrium constant for
a particular reaction is 1.6 x 10'2, then at
equilibrium the system contains
A) all reactants
B) mostly reactants
C) mostly products
D) similar amounts of reactants and products
@m GOUYLL  alemerulledt  FOBleMEV
orpledlulledr W& IUMeTgI 1.6 x 102 <&
@SS CUME B FOBlemey emnliLle
Qouusl
A) 8106 &I 6l e 6ot LI @ LITIH 6T
B) :F& LILFOMS ellemeor () GLITIHeT
Q) B &L FLD ellement ellemer QLITIH6T
D) ellemeoT LI(GIQUIMTH6T LoMmmild el evreoredlem e
QUITIHET FLOLDMTE @) (H&SH 6V
26. The value AH for the reaction x, (g)+4y2 o 2XY40
is less than zero. Formation of xy @ will be
favoured at
A) Low pressure and low temperature
B) High temperature and low pressure
C) High pressure and low temperature
D) High temperature and high pressure
Xyt o= 2,y AH<O0 @HS aflemeoruilev XY
2 _(HEUTEUSMETEOT B LIS 60 60TE 6T
A) GODHS SWHSLD GeODbHS G aILILIBlen6y
B) 2158 GuLILBlIEn6 GenMbHE (WSS
0 ABH& WSS GOMBS GlelLILIbl6m6v
D) 2188 GQeulILBlene SF& WSSO
27. The rate constant for forward and back ward
reaction of hydrolysis of ester are 1.1 x 102m™!
and 1.5 x 10°m™" equilibrium constant for the
reaction is
A)4.33 B) 5.33 C) 6.33 D) 7.33
eTervLfl 60T BrrHueLliy aflemeoruilev
(WeTCeTMEG LDMMILD LNeTCoora @ alemeorudlesr
aflemerCals LmMled 1.1 x 102 BIALLD™ mHmiLh
1.5 x 102 plALL" @b ellemeTulest &FLomlemnev

omnledl
A) 4.33

B) 5.33 () 6.33

28. For a reversible reaction, if the concentration of
reactants are doubled, the equilibrium constant
will be

A) one — fourth
C) doubled

D) 7.33

B) halved
D) the same

@M Waralemerulesy  ellemeorIGQ LITHerfleor
Q&nile) @ueor(h) LLBISGTGLWD CUTE, FLOBleney
mnleSludlest &L

A) BITETHIGL ([ LOLMHIG H&H&GLID

B) @U6T0TI460 R LOL G 21H &S0

C) @uevor(h) LOL MIGMEGLD

D) 6155 LOTHMUALD QGEHSTE!
29. In which of the following equilibrium K and K,

are not equal?

1) 2NOw = Nogy + Osg

ii) SO + NOyy = SOs + NO

111) Hy + Ly = 2HI,

1V) 2C + Oy = 2COs¢

A) (i,ii) B) (ii, iv)

O) (i, iii, iv) D) none
GipasevorL 676G ellemestullev K, LoHmuh K. nHauLd
FLOLOMS @ (H&HSHTSI?

i) 2NOp = Nyt Oa

i) SO1 + NOye = SOz + NO,

i) Ha + Ly = 2HI

iV) 2C + Oz = 2COx

A) (i, ii) B) (ii, iv)

Q) (i, iii, iv) D) @eumnilev eTgia]Lllevemev
30. If ais the fraction of HI dissociated at equilibrium

in the reaction, 2HI =H, + I, starting with 2

2(g) 2(g)
moles of HI, then the total numbers of moles of

reactants and products at equilibrium are
A)2+2a B)2 Ol+a D)2-«a

2HI =H, + 1, 6T6Tm Floplemey eflemeoulley Hieor
FengolenL_FH6V LedTeord oo GLOMEVITHELD 5560
QBMLES QFnla] 2 CLOT&EETTHALD @) (HHS TV
Fopleamevuilev alemeTLIBQUTIHETHET DMHMILD

aflemeorailemerm QUITH6TEs 6rfl6oT QLTSS
GLOMeL & 6IT1 60T 6TEvoT600 856055
A2+ 2a B) 2 O1+a D)2 -a

Maths Q.No. 31 to 45

31.If sin O and cos 6 are the roots of the equation
x> + mx + n = 0 then,?

A)l?—m?>+2Iln =0
B) 2+ m?+2In =0
C)PP-m?>-2ln =0
D)PP+m?>-2Iln =0




sin 0 LDMMID cos O eTedTLIGOT Ix2+ mx + n =0 6T6dTM
FLOEOTLITL_LQ.63T ELN6VMHIG 6T 6T60f16V
A)P-m?+2ln =0
B)P+m?+2In =0
QOP-m?-2In =0
D)lP+m?2-2In =0
32. If a, B and y are the roots of 2x* — 5x + 1 = 0 then
sum of the root is
A)0 B) 52
C)-2 D)1
2x*—=5x + 1 =0 6T60TMD &FLOGOTLIML LY 60T PLOGVMRIGHET a,
B LOMMILD y 6T6ufl6v, eLneuhISs6rfledT G (h &6V
A) 0 B) 5/2
Q) -2 D) 1
33. 2cos*x — 5cos x + 2 = 0 for principle value of x,
then the solution in degree is

A) 90° B) 60° C) 45° D) 30°

X- @) 60T (LN S 60Tem LD OB LI D (& 2cos2x — 5cos x +2 = 0
6T60TMN SFLOGOTLIMTL_L9.60T SF6y LiMemdsuilev
A) 90° B) 60° C) 45° D) 30°
34. If (1 — p) is a root of quadratic equation x* + px +

(1 —p) = 0 then its roots

A) (2,0) B) (0,1)

C) (0,-1) D) (1,1)
(1 - p) eTedTLGl x* + px + (1-p) eT6OrM GUBHLIL.
FLOGTUML Q60T  eLN6ULD  6T6oTl6D  &LOGOTLIML. Q60T
Srey

A) (2, 0) B) (0, 1)

Q) (0, -1) D) (1, 1)

35. 2 and 3 are roots of 2x> + mx*> — 13x + n = 0 then
m, n and its third root is

A) (-5, 30,-5/2)

B) (5, -30, 5/2)

C) (-5, 30, 5/2)

D) (-5, -30, 5/2)
2 IDMHMILD 3 eTedTGl 23 + mx2—13x +n =0 6TedTm
FLOGOTLITL_LY.63T @)(IH LNV RIS 6T 6T60f 16V M, N LOMHMILD
ELPEITDITEUS EN6VE Bl6tT LDFILILY

A) (-5, 30, =5/2)

B) (5, =30, 5/2)

C) (=5, 30, 5/2)

D) (-5, —30, 5/2)

36. If the product of roots of the equation (a + 1) x* +
(2a+3) x+4 = 0 is 2 then sum of the root is
A)S5/2 B)-5/2
C)3/2 D) -3/2
@+Nx+Ra+3)x+4=0 6T60TM QUL

FLOGOTLIML_LQ.60T eLN6VBIG 66T QILI[H&H &6V 2 6T6dT 16V
eLN 6V IG5 6Tl 60T o (D) &6V

A)5/2 B) -5/2
Q) 3/2 D) -3/2
37. The quadratic equation with real co-efficients,
one of whose complex root has the real part 12
and modulus 13 then the equation is
A)x2—-12x+13=0
B)x*+24x+13=0
C)x*—24x+169=0
D) x*=24x—-169=0
QOUl  6TEOOTSHEMET QHRSHHEMMEH G &HIT600TL
@)\ (HLILY &FLOGDT LITL_1q.60T 860116 LI6T0T eLO 6V hI & 6rfl 60T

QUUILEGH 12 IMMID 9iF6eT WL(H WH L 13
6T60T 16V & LDGOTLITL_TEOT S

A x>—-12x+13 =0
B)x?+24x +13 =0
C)x>—24x + 169 = 0
D) x> —24x—169 = 0
38. If the equation x> +ax +b=0and x>+ bx +ta=0
have a common root, then the value of a + b is
A)0 B) -1 O)1 D)2

X +ax+b=0 OOOID X +bx+a=0 WHW @G
FLOTUTHSHEHHGD 6(H GILIMSIEUTET eLN6VLD
@ ®BLILNET a + b-60T LDHLIL]

A0 B) -1 Q) 1 D) 2

39. If 0, B are the roots of the equation x* + px +q=10

and vy, 0 are the roots of x> + px —r = 0
the value of (a0 - y) (a0 - 0) is
A)—(q 1) B) (q+1)
C) (—qr) D) (q-1)

X+ px+q=0 6T60TM FLOGTLITLIQ60T eLOEVKIGET

o B LOMMID x>+ px —1 = 0 6T60TMN &FLOGOTLITL Q60T

ELOGUTBIGET v, 8 6160160 (o —7y) (o — 8)6dT LDGLIL

A)—(q +1) B) (q+1)
(ONCeRg) D) (9-1)

40. Let f(x) be a quadratic polynomial such that
f(—1) +f(2) = 0, If one of the root of f(x) =01s 3,
then its other root lies on

A)(1,3) B) (-1, 0)
C) (-3,-1) D) (0, 1)



f(-1) +f(2) = 0 eTeOTMEUTM 2 6T f(X) @MH @UHLILY

LMLl G&memer GCaln f(x)=0 @)60T e&(H

eLNGUD 3 eTedflel DMAMMTEH ELP6EVID  Si6mDULDd

@ LG euerl
A) (1, 3)

O =3,-1)

B) (-1, 0)
D) (0, 1)

41. The number of solution of the equation
Vx+1—Vx—1=y4x—1 ig

A)0 B)1 )2 D)>2
JxHl=y/x—1=y/4x—1 66T FLOGOTLIMLLQ 60T
B176) & 6rfl 60T 6T6v0T60011 856005

A)O B) 1 02 D) >2

42.1f a, B are the roots of A(x* + x) + x + 5 =10

and A, A, are two values of A for which o,  are

connected by relation %+§ =4 then the value of
p i
A) 254 B) 482
C) 784 D) 782
a(+X)+x+5=0 6TEDILD & LD6OT LML 19.60T

ELNGLIAIGET o, B LOMMILD L, A, 6TEOTLIG! A- @)60T @)
WG &6T %+B =4 6TEOTMEUMMI eLPEVMHISGETT(H

£
QBITLIL6mLIZI 6Tevflev ﬁ—;+§—f= 60T DG LIL

A) 254 B) 482
C) 784 D) 782
43. The real value of X of
Vx+3-4/x—1+/x+8-6/x=1=1 is lies in
A)(4,5) B) [5, 10]
C)[4,10] D) [4, 5]
X-60T QLoul 6T600T LHLUNHS

Vx+3—4/x—1+/x+8-6/x—1=1 etetTm &LOTUTH
IlemLOWLD @ emLQeuerf]

A) 4,5) B) [5, 10]
Q) [4, 10] D) [4, 5]

44. The sum of the real roots of the equation

x —6 -1
2 —3x x—3|=0 isequalto
=3 2x x+2

A)—4 B)0

O)1 D)6

x —6 —1
2 —3x x—3[=0 6le0TMm &LOGTUMLIQ60T GO
-3 23( x+2 .
eLN 6V IG5 6T 60T o (D) &6V
A) -4 B) 0
a1 D)6

45. If the equation x> +ax + 12=0; x>+ bx + 15=0
and x> + (a + b) x + 36 = 0 have a common
positive roots the value of a and b are

A)-7,-8 B) -8, -7

C)-5,-3 D) no values of a exist
X¥+ax+12=0;x>+bx+15=0 LOMMILD
X¥+@+b)x+36=0 UHW FOTUTHEHEHEGS

@@ Qumsemer Wems epeuld @ @HLILNeor
a lnMmmILD b -60T LDHLIL]

A)-7,-8 B) -8, -7
C)-3-,5 D)a-5& M@ LG LILY
©)6V6Em6V



